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(Computations for Plotting)

B/ — W
s B OB R
199. REZHE NBEZEMERERES 2
OE AR R A B kR E S A R R E B B
B0 AR B8 P 0 T B2 T DN A% L0 LA RE AE B LM B &
BUWBEALPEETEAZ T AR, E®B 0 -
FREA LY RHERR
BEZHATASBE MW ) NPFHFEZHE °
R S AR NS R E %%z
B 7y E B SR . (2) 0 ok B A5 R R A& M
BzHEoHAER LS @D R BEER B
EHES R .
FER—BHBZENENBFAZHEI G
284
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 RERTEF-_EIERLFSHENIREES
o

200 SHEZMAL ALEHELIT—EZHE
(system), £ BEFES F LU FAHTUGREIHZ
BMFEUZHAZBRESZHELA—E LA
ZHEBERE Y- E2H AR — N B4
EHARETMEXEERMZ LB RER —&R
B A B B AR A W R R —
EZBFESHANPERREBRBBR——ER
— MMM RN E— R 2B KB FE A T
B R 1 2 SR (AT, R 0 % G E & R 80 B — A%,
— B 4B RO B BROF R RE K R B K % A

201 SHEZHB 4R B T A8 B0 A T
BEMBERAFESRERTRKSBARZER
9E 4 4% B (check) 46 Kk B {2,357 @ FF LU 5 1% 65 B9 & G
Ll 8 R Z ;

BHZEARERERZN Q) REERTES
B @ BB 2R ET AR W AR
BF = 88 2 P fA, B LA A0 R T 25 1 150° 2 b, (3)
FRAZHEREBRAS R A= AEREASA
BB BMBEZU-_BZERE L@ BRAZH

T e T B
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T B 30 A S o ok B 2 AR TR =
AR ESR b \
EAREMEZEDSBABE SN HEL
BF AR 5 B T AR R UATE UM A B BLR B £ b s
& B W B BESE T T BR 3L R NS B 2T M BH 3 T B b
VT BB GE 28 HAR MBELAMAZEREY
07 60 B DB kR 5 R BB R B LB 2 R b
202 REHNE BEMFIRGTHLERE

Bes i mpk HEOF JE B BN A A R N 2 BB B,

HRERBRZ—BELT:

I MEBEHZE *&%&!ﬁﬁ&ﬂZﬁﬂ——
% 8 8o AR 2 R—& il KL 9 Z B K 12 BuRl B TR B
EREBGZMAERIZEHRSRMZIER

i 12,

&
2875=22, 22-9x2=4
4%x3-9=3

x 273=12, 12-9 =3

784,875=39, 89—9x4=3

I BEENE REBRHRMERBHZK
MEUI ZRARMURBRERRZRMIESRZ
BRENERI ZANENRBBRNZHE
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8912
31416

BRE B 41.699348=44 44—-9x4=8

#113. 41.699348+3.1416=13.273 +

B  3.1416=15 15-9=6
(] 13..273=16, 16—9.=7 6x7+2—9x4=£
B3B8 8912=20, 20—-9%x2=2
203 HEHE kI ZERTAE BN T
() BeretE AMide s (Q MEBRERZHE G AR
ARG @ MAERE G) MAAER @GR
%+ R — ).
204 Bz H@EEE BFIHAEERRY
B B 2 B, UL 2 A TR B o R o AR N 0R OR B8 R
5 407 gy B o 26,50 v DO 6 E 0, L O G S4K B B W R
ZHRED S FR— M ERT: j
(I) #8 T & (abridged multiplication) 7 B Fk R
& B B2 BEK, v S N R R 2 B O 30—
A — R BEEE ]l 2 TREFUERZ
R ME E 2 R RBE RO U R R R
TR T A rd L ET RS R T 8 EX
RABREBELIO 2 & T b £ %8 &
ABRLEAERRERBRUEHFBEBIHZ
0,00 9 3 E A % 3K L -
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@i 14. 48.6678x 1.0623, 3k H: F§ = WM fL:
48.6678
32601
48668=48667x1+1(8x1=8 # % 1)
2920= 486 X6+4 (6 x 6=36 # % 4)
97= 48x2+4+1(6x2=12 # 18-1)
14=  4x3+2(8x3=241k %2
51.699 =51.70 (§ B 4 51.69980394)
(II) $BF% 3% (abridged division) 'Fi %48 B 4k 4% n
Br Z 7 3,0k 3 BB o 58 B ik oR 0B — L Z Wik e R %
BB Bz X OB T K X B B B Bz K AL Am Bk B
T2 A8 U4 L2 A bR R 05 20 UL SRR B B
BRI LM RPN Z R KL R R
F o+l BB E A EHKOL
- §115. 41.649348+3.1416, 3k H % % 14 fi:
3.1416)41.699348 |13.273=13.27 (i B £ 13.270)
31416=281416x 1
10283 .
9425=3141x3+2(6x 3=18 # £% 2)
858 : .
628= 314 x24+0(1%2=2{k 1% 0)
230 ‘
; 220= 31 XT+3(4x7=28 #% 1% 3)
10 :
_ 9=3x3+0(1x3=3{ #%0)
X :
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e B A N2= (N4r) (N—7) +.,.2.../ ........ Toarihi
; o B e e N’=(N:l:r)2q=2(Ni¢)r Jebivassrsserns 37
L pi16 82— (34—4) (84-+4) +42=80 x 88+ 16 =706,
BI17. (Bh*=(E3+H Gi—1) + B =9Ix8+3=T2,
B118. (99.92)7= (99.92+0.08)°~2(99.92+0.08) x0.08
© =10000— 16=9948.0 (FE B¢ £ 9948.0064), -
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e L N LA e e e g
BUHBSAESEEE S TSRS EMER
2B B BB R 30 AN B h,— B0 R 0 R AR
ET ST L PEES S8 T NP DS 3
55 B I B DA A R 2 A LT B O L B
R 3R B BB % T BLR B8 5 A R 2 M T
KBy O MR R AR RS T
T 4 6 6 3% 2 B K . |

MRmE B EUTRARA B MRE O BN
2 WOR Ve T AR R FEE — K 2 TR AR R B AR
B @ HAFBISARFREEUGTBEES R
. (3) B 5 R BE Z BP0 9 57 S0 B 75 40 A
HE o2 # B B 9 BB 4 BOR A — 6 8GR BB A B2
Z R WAEE T EDE B X b,

TSI T VI E PN U
| G B R E K Sz BT B A BF 0 4 T R AL AR 45 30 B
HEEMBAMNBA LR PR EENESBBUTH
T T A R B O TR B 0 ULk 2 B
B W o DR U 4% R 28 134 0R 6,0 T O 4 1.340
Pk 2 B DS R E o W BB 4 B2 B
7 %,
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B R BT SR MR R BT
B B 25 U B4R R A T 0 7% — AR 3R B du TR B2 AR
ERE-BRRNFAEIE LA CHARSH
BB FREB MR RREA -—EREREN
FOEBURZRAERTERARR » BRS TR
Bl o) BEZRERSESTEZY -1 6

B2 A EEREN 2R S 68432 R, 255 IR,
928242 IR & 1200 R, B SR B UK B R B R K
— R BT 0R LAZEHEEMNBFAERE.RE
Bz R KW &2
b v LSS P9 B 2 100 UR G Bk 60k BE K, B
8 Fu 2 100 R B 95 F B 75 FE B B B 2 100R L LU F
2 WE s AR E X

6840
250
280
1200
8570=8600 IR

AE—BRA 2B B REH
BERR_BEZBHEREERRZ R RM
W=tz AKX T:
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6843.2
352
1369
842
20
1,781,000=1,730,000 Z5 % IR,

B2 E AT AT IER S 42863 UL, 3068 M B
= 5 A A R R, & -

tan 44°24' =0.97927, tan 44°25' =0.97984, & f5 Ji 2 30"
B, 1E 5 0 B 2 55 10 G A9 2 38 S BE K Ber R = M.
2 & % 2 K L M B 3 2,45 428.6 X 0.9793=419.72;
o B Beer RS, o 30k B 4 4197 IR,

206 StERZAR HAXKERLBEAY
ok B = f BT S dn BE A B O FeAR 4 B
FRRISAFRESREFERRAA L

AHMHEG ANMNE T RZ RN A NRR
ERBRZEBUAERA 2 HET R~ AR
e R R B A I 1O B 26 K B 8L
ERE S0 LEAENEGPHARUERG L 2,
RS — LR A — bR R R i R R
B 84 T A KK

WA S WA MR AR T
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T 2= 77 4 0 B T IBOORA BEE RS kR
 AMRERAZEUHARRRMEEASKER
BREUAZERERD BT AR ER LI KA
B A Kk 8 A K

207. EMREZFIA B MRS LR R
B35 /8 S, ELOF B8 18 40 B 2 B OR R 2R dnsk
AR 2 B B S 2 bk B O, A B b U R R T B
W M Y H R AT B 5 R B R 2 b B & 0
L E T I P L X T

%(diagr&m) hERENEBR BTN
R AR R T A R AR R Lk R
Bz % R .

- S
EEEBEZEHE

208. S EE 8 B E R BE — 4 M I G0 A B0 I BE
& 1 B = K D2 B (+), 1 22 B0 I 0 8 R 8 5 O
%8 P2 B (=) bl AR 5 L NE RS W. B(+),
N.W.RS.EB(-);1E 2 B 5 i 0l # 8 5 (+),

fu %5 212 B B 7%, 36 38 # AB % — 83 BYE 7 & # NS,
MENESBREARETANALSAEER2
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294 s+& WNE PR

4 AB # = B BB (angular distance) # X R A E % § E &,
RES A N MBS & B b s N4+
N120°—, 860+, S300°— B A1,
MEEICUAKNB SO NAAREEDS |
W % 6 . | |
200 FHZHA KAEBESHLEEEAER
Wz BNME S &% W6 A K B E b f o & B
PR H R BEET R R E NN R RR
TR 2 Ca T2y ER s a
e 2B 5B R OB O B R
ABEE—BR BB —RZH R RERMZHE
g 5 B i & B2 % BT ik B 0 8 2okt 0K R I
2 40 e B — R B K R R 1A A 2 B OR B
B 5 A 8 2 R BOCRLIE U A BE 2 T R LR 4 2 R
Bk, O 75 25 = £k 2 A R B 75 v A O 8 O O OB B
= @ 2 J B B 2,50 DL 3L 4 7 6L AR B ik ok 48 =
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82 7 LR o U, 2

AR AENABCGE BH2B,HRE SN Z
R R B R K = % 28 m
ULF %k # 05 /8 Wi 0L B, 1

#i24. 75 ¥k ABCD,AB
Z J BB S30°E, % R 08 Z £
I du 58 213 W T T A R A AR
Z F B,

B KRR 2 A
X TFTRXPHERAZXFE
73 % 2 % DL,

B O E m £
AB 2z fr=8. 80°E.—
BAD = 100° -
AD 2z f4 fE=S. 130° —
AD zZ F fit=N. 50°E.+(S. W.)

ADC = 95" -
DC Z HfL=S. 45°E.—(N.W.)
DBC = 75 -

CB Z A EE=N. 1200 —
CB 2 J f£=8. 60'W.+(N.E)
CBA = 90 -

AB 72 5 fL=N. 30W.— (B %)
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K W A
AB Z 5 fr=S. 80°E.— (N.W.)
ABC =__ 90" +
BC zZ #ft=N. 60°E.+ (8. W.)
BCD = 75° +
CD Z =8 135° +
CD =z # fr=N. 45°W.— (S.E.)
CDA =__95° +
DA Z K pr=8. 50°W.+ (N.E.)
DAB = __100°  +
AB Z # E=N. 150° +
AB Z A fr=8. S0CE.— (B ¥
210, BERBE BB BRIWEFE_RATF
CREEEN G- GMZEEESRR ZBRZEE
(latitude); BB — Rz ABE - FFRVXM ZEE
MR 2 Z B (departure), MEE ZH R T i
BRI ELER LA UBNNBRES (+), 5
MBS MBES (—); XA LBENEES (+), 5L
BEWAEESR (-).
LW —FEREREEN ZHEZTFE
SIEM (meridian distance); — & i B 2 F 4 4t BE % R




